




Read the sentence to find out if there is any 

error in it. The error, if any, will be in one part of 

the sentence. The number of that part will be the 

answer. If there is no error, then the answer is 

(5). Ignore errors of punctuations, if any.



Under the immense, starred roof (1)/, 

people was walking fast,(2)/ like threads of 

colour being(3)/ woven into a grey web. (4)/ 

No error (5).

1. 1

2. 2

3. 3

4. 4

5. 5



The decline in the fortunes of the once (1)/ 

esteemed royal family of Mysore are a direct 

consequence (2)/ of the refusal of the (3)/ 

members of the family to look for jobs in the 

independent India. (4)/ No Error (5)

1. 1

2. 2

3. 3

4. 4

5. 5



His mastery (1)/ over several sports (2)/ 

and the social graces (3)/ make him a 

sought –after coach(4)/ No error(5)

1. 1

2. 2

3. 3

4. 4

5. 5



The branch manager (1)/ and the area 

officer (2)/ is on leave (3) / today. (4)/ No 

error (5)

1. 1

2. 2

3. 3

4. 4

5. 5



The prime minister(1) / as well as his 

ministers are (2) /busy in campaigning(3)/ 

for coming elections(4) /.No error(5)

1. 1

2. 2

3. 3

4. 4

5. 5



Chillies are (1)/ the name of the (2)/ new 

restaurant in Kolkata (3)/ that opened last 

week. (4)/ No error (5)

1. 1

2. 2

3. 3

4. 4

5. 5



The bed and breakfast (1)/ were very 

charming (2)/ so we decided (3)/ to stay 

there for the rest of the holiday. (4)/ No 

Error (5)

1. 1

2. 2

3. 3

4. 4

5. 5



Neither(1)/ the captain nor (2)/the class 

monitors(3)/ was present (4)/ No Error (5)

1. 1

2. 2

3. 3

4. 4

5. 5



The advent of a plethora of new tools (1) / 

to create web pages (2) / are the cause (3) 

/ for the advances in web technology. (4) / 

No Error (5).

1. 1

2. 2

3. 3

4. 4

5. 5Solution



The news (1)/ are at (2)/ 6:30 P.M. in the 

evening (3)/and is again repeated at 6 A.M. 

(4)/.No error (5)

1. 1

2. 2

3. 3

4. 4

5. 5



A statement has been divided into 5 parts 

labeled A, B, C, D and E. Part E, highlighted in 

bold, is grammatically correct. Out of the rest, 

only one part is error-free. You are required to 

mark the part which has no error in it. If none of 

the parts has errors, mark ‘No error’ as your 

answer. If all the parts, except the bold one, 

have errors, mark ‘All have errors’ as the 

answer.



This Prime Minister has built (A) / a 

personal position of great possibilities (B) /, 

and his international approaches (C) / 

show the imagination and (D) / dexterity 

needed for national greatness (E).

1. D

2. B

3. C

4. All have errors

5. No error



Five months within the government claimed the 

(A) / victory of quite diplomacy to bring the 

stand-off (B) / between Indian and Chinese 

troops on Doklam to (C) / an end, the contours 

of the actual agreement and events (D) / that 

have followed remain a mystery (E).

1. A

2. B

3. D

4. All have errors

5. No error



When the scale is debatable, border 

crossings (A) / into Assam and West Bengal 

are a reality, and (B) / political parties are to 

blamed for turning (C) / a blind eye to the 

situation over a (D) / decades in order to 

cultivate vote banks (E).

1. A

2. B

3. D

4. All have errors

5. No error



A federal shutdown occur when lawmakers 

(A) / fail to agree to a spending bill, and 

cannot even (B) / sign off on a stopgap 

funding measure(C) /  that might kept the 

government machinery (D) /  humming for 

a few more months (E).

1. A

2. B

3. C

4. All have errors

5. No error



The war to defeat the IS with Raqqa, (A) / 

the major city in northern Syria, can (B) / 

not have been conducted by the U.S. and 

(C) / Russia and their various ally entirely 

from (D) / the air and required a partner on 

the ground (E).

1. D

2. B

3. C

4. All have errors

5. No error




